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The figures in the niargin indicate full marks
for the questions.

Answer either in English or in Assamese.

- TG w2 SRS Tew FiRAl |

‘Answer question Nos. 1,2,3 and any four
from the rest. ‘

1,2,3 793 o o 3di@ieg ot R @i
5iIfS6ie Tex forey

1. Choose the correct answers of the following

questions : 10x1=10 -

TR TR Nl wm e aifs S ¢

n (@) In which year Fayol’s work ‘General and
Industrial Management® was published first
. in French ?
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C‘«?ﬂm 8% ‘General and Induétrial
‘Management’ (N 5Te THI6] SRS &S
e 2 :

) 1916 (5530 57%) |

(ii) 1918 (55t 5®)

(iii) 1929 (553> )

(iv) 1949 (5585 5®)

(b) Which theory of management applies the
~ principle of Classical as well as Behavioural
theories ? ' '

HARBIENR NG a2 AT TN HHI
TERT I S @ IF 2 -

(i) Process theory

(ii) System theory
SleleT I

(iii) Quantitative theory

RGNS

(iv) Contingency theory
FAFOR I
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(c) Providing a detailed guidelineto a policy
~is a :
[ | ‘
- (i) Méthod
LI
(ii) Procedure
A et
(iii) Rule
ISER

(iv) Programme

Z

FRFA

(d) To make non-programmed decisions mana-
. gerial initiative is not required.

(Write ‘true’ or ‘false’)
- Prae ot sRae AReEH

AIRN AR wWieen sy e T |
(Srey 1 ePrer o)

(¢) Matrix organisation is a combination of
functional and project organisation.
(Write ‘true’ or ‘false”)
ol AR TR AT S R IR G
eS| (T @ sprey” o)
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" (f) Presence of factors which motivate the
workers but absence does not motivate them
are . (Fill in the blank)

Tomia] IoE RRIE dfies edire 3 e

ol (xR —— | (JIfE I <79 =)

(2) Leadership continuum theory was evolved by
. (Fill in the blank)

9T WARIETNTO! g TG I — |
(AfE 317 779 M)

(h) Informal relationship can be
SHIFINE TE | AT
@) vértical
ToY
(ii) horizontal
AT
(iii) diagonal
Rl
(iv) All of these
BN FPCENRIEE
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(i) Control exercised by the lower level managers
are '

(i) Strategic level control
(ii) Tactical level control
(iii) Operational level control

[ T A WaEd
(iv) None of. these

GRRRT @IAGIES 72

() CPM stands for
CPM-q =ifefifty w
(i) Critical Policy Method
(ii) Critical Path Method

RUIERTT 214 &S
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(iii) Control Path Method
fr A2 S
(iv) None of these.
R RIEARBIEE A
2. Write. vérf short answers of the following
questions : - 2x5=10
oo ehpTRe oY 5 Tew el ¢

(a) State two features of modern management
theory. .

e ARG g 7B RS TR

(b) Give two comparisons between planning and

forecasting.
SRR SI% SRAAITIEeR e 0!
A |

(c) Explain two factors of span of control. |
e ePTReiR Yot et it

(d) Find out the relationship between Maslow’s
Need Hierarchy Theory and Herzberg’s Two-

Factor Theory.

g ST ST 7 i et
BT S e wor Tod |
Sfenedr |
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(e) Explain organisational chart and manual as
traditional managerial control.

AT ARG TR ﬁ’m Eoe]
AT oiferel i FeofR [ 1|

3. Write short notes on any four questions :
5%x4=20

et TR epTRe R OIS @sR 5 Gt
forar e
(a) Explain the features of Weber’s Bureaucratic
Model of management thought.

RPTRE [ A

(b) State the considérable factors in the policy
formulation.

TS Ao &oy SAMATR I 71
(c) Explain the techniques of forecasting.
SRATITIRE CFPEPRR Tt

(d) What are the various barriers of delegation
of authority from superiors viewpoint ?
TR RCRIR A T wiRiefaT e
aifamrernz 5 & 2
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(e) Explain any five principles of leadership.
@oed B i oo NS g 31

(f) State the relationship between ‘Planning’ and
‘Control’.

‘SfRFENITIN T [T AT N 7T F
I =1

4. State the prihciples of Taylor’s Scientific
Management. Make a comparison between Fayol
and Taylor. . : 10

G SR ARG N aefat =1t | G
oiE (03I NSO ol FA| -
AOr/WQI?IT

Discuss Herbert | Simon’s contribution to the
development of management thought. 10

F4l '

5. Describe the process of ‘Management by
Objectives’. Also state the merits of management
by objectives. : 10

SoliE At AARBIETIN AR SicaIsa a1 | =TS
o @i ARG Rz <t w1
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o Or/wt

'What are the features of  forecasting ? State the
measures for effective forecasting. ~ 5+5=10.
SRYATTER CREpER R & ¢ e SRTaferm

6. Make a comparison of Mc;Gregof’s .Theory~ Xand
Theory Y. State the implications of Theory X and
Theory Y in managerial practice. 7+3=10 .

| GRS T X e o Yq gomt 311 ARG

- TS Y X i o Y ool I 0

- Or/=a L .
What is product deparmlehtaﬁon' ? State the
advantages and disadvantages - of product
departmentation. o 3+7=10
Bl wrae Ao R ¢ SelffS TWE
R s o SRR T ¥
7. What is dimension or direction of communica-

* tion ? Explain the different directions of commu-

" nication with their merits and demerits. -
o o 3+7=10
S S SRR 3 et B ¢ AR S SR

| oI A e Rfew R I =
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Or/=2at

What do you mean by management of change ?
Discuss the external and internal forces that bring
organisational change. 3+7=10

. SifRaSA AR IFTE B TS 2 ARASHT RIS
AR oWl AT AE SR PR A
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